3

£
X

R

®Fcf 1111206, Fer— F % 1116086571 5Lk -2 3

o 4 OO¢
% L 000

B A M d AT RRRE B

PRRE A T T RARM ARG R AT 0 R RS WM AR 111 &8 % 16 p
AFALE T % 11131284211 8 ~ % 11131284213 % 111 # 8 #» 31 p A # 4+-%¥
5 11131312422 L% > e ATRE > A Frid- e ™ -

— ~

’

G =
B>t 1112 87 16 p A A% 3 % 11131284211 5550384 $icdd > o fbe
AT AT EE 2 A pAB0 PP T DS e
Mt 111 # 8% 16 p A7 AA%¥5 % 11131284213 8.% 111 # 8 * 31 p a3
ik 3 5 11131312422 55 30304 > 2REESS ¥ o
jg:"-ﬁ?
R WM GBS AR AR A BEMMAETIT R R
R EGE S R ERIE MR PARE EGIRIFE > SRt AP HHEAE
AGTIIRIRA BhyE (T HA R PES ) BR T PHL AT AT BALK L
TRBEATEYE E o TTRE A v R s PR Y ’%-‘1\@] (T F) 107 # & % 108
ERZABIEDEEY  SRASBME AL A8 107TE3 0 150

% 10733970600 &L 3 (’fﬁ; 107 # 3% 15 p &) ~107T&# 47 1
6 p A7 ALEF % 10735542902 5L (T A 107 £ 47 16 p ) 2 108 & 1
0% 1 pAsitEzx % 1083155996 5L (T%a_ 108 & 10 * 1 p &) » %2
A BYITRE A PREIEAY T PBRBE M IR EE (T . A gpEE) 107 & RATEA IR
PEER~107TE#RZ 108 # R4 B> R P 257 A58 2374 W
(TR )I8TH 5,840 ~ ~10F ~ ~ 10§ ~ ko
FRERL AP P RFFFIREEF F AR ENERE S AEHEA
2% & A 000 (FHO%) ML s LHBET P4l Hle sk
EHE > SHEE L 110+ 87" 6p 110 & B W F % 7247 5.2 % 19035 5L
Az d (TAL 110 E 87 6 pAziFE ) A= Rk a_,vch,
O p R ik %Fﬁgﬁf’"i,ﬁ‘i%%-wﬁ R 4 > 2 (83 F4E
@ﬁ%i’F”1$§&@&?%ﬁi%%ﬂﬂﬁ&ﬁmiﬁ2%0”
(¢ $RFEF-T35H 1,600 2 £58H-41 % 480 =) ~107 & A 4

MFAEE



¥ 78870~ (¢ 7% 1%5 9000~ -3%% 6,000~ -
BB 1422 8 5~ 3 598 5,500 &~ de sk 3,000 &~ Gk kAL
TARR1HE2600) 2 108&R4«E> Rt 9F 4
350 % (¢ 5w 28 2,560 % ~ sesplam 4 5 4,390 ~ ~ * E#F 2§ 7,400
) o RS M I RARYEEY 12 LR 2 111E 82 16
AP ALK TR 11131284211 830 (TR 1) 2 111 # 8% 31 p 4t
AE T % 11131312422 5L (F fL R s 2) W A0iRER A Bw B B IEAR
2 XA £ 1T H 5,130 ~ 5 T4 #EE 5 11 5% 6 401
o111 # 8% 16 p A wAE T H 11131284213 8230 (T fE R i 3)
My A o p 1122 17 1 p423 113 & 127 31 p ok > Bk 272 k545
,‘%’éiffa“géﬂ'é—;.!-oé’-’r);?é&%}aié*ﬁ%}ﬁw\1\/%z/%@/>2£/%z1%@/>3’%?111
£ 91 23 p e ARHRACTR > TR s BT ERE-
2d

-~ AR R T WA -~k FRII1E8T 16 p Ak

F % 11131284211 8.2 111 & 8 7 31 p A% A% F 5 1113132421 8.5 >
FH O OFTRRLFENE CREFATAL () FH - HRETF
?ﬁﬁ@ T2 atet s AP R ALE PRI B PEE B 12 (55
BRI T BEAE B A § Y g o R R FE IR
J?%wﬁﬁ@4iﬁa4o%aﬁ’ﬁ@4ﬁﬁﬁﬁaﬁﬁwﬂﬁ
R s R 22 R 3 B K S PR A B 0 H i 0 R IE
L P B2 AT BN Y 2 g 0 B G FRRE TR PR 2 v BLIR A
2R X URREABRACTRRER Y (111 # 97 23 p ) EERAA 12 Rk
ASi?¢B$&9ﬁ305Hﬁﬂ&&k%%%%w&iﬁliﬁiﬁ
3 2 HEHP N EPI R R KARE o s W &Y
FPRE > & L4 o
\ﬁ%«mﬂ&$27@%i:r|?%%@sm BEARFTR >y

TAEE - @7—“241#« & B KE RF AR o -~ BT E
ATRE BT EE o 2 KB R ERRE o
F AP e BAL g ARTIURISAT B RS N L iER T T4 49 fefp s

“ﬁﬁﬁk"%ﬁ‘ﬁﬁé.Wﬁéiﬁﬂﬁgmfmﬁ,&ga
’VUE EOLFIRARS R MFBAE RIS 0 BT AR o
R TAPREZ A EWM G ARELE h (T AALE R o

9?%&1r%fﬁﬁ@&Tﬂ%iﬁﬁj—\&ﬁ@%f T3t

>

A

il



FRE R REARM S BB o e o 1S 6
rﬁé%@@TN%iﬁﬁﬁﬁﬁiﬁ: ------ %~£ﬁyﬁuﬁ$\
P S pTRE S EM R EFFEHSE B AR R
Bip @H A H— 3
PO - A B IEARE ST R A R R s 2 2
TR — 0o TAf W a2 2N E - FRAF EL AR
PR ~ R R B F TR
AEREEIEd w0 A ERWE R I EY L HERT AEFH LG R
Fldggean o T L AR R BHYE Ry A XAmes > H
BMEBRFTAFTPFEALESNITES 130X B2 kL2 2 hF
2 AT 0 F g T B R R 1 R 2 F RS 3
o~ BIRREA TG R A M Rk IR 107 E RAFEAE D 2 5 F - 107
ERZ 108 ER4E> AP 2 GEH 4B 5 18755840~ 104
AN10F Ak c RIFFFAZAZAOBP whjms BT 2 L &
WRBEE T RIpF P > 2@ FRAEEFTE O DR EERES
BSEAR AR A2 APRA Y £ 2,080 2 -7 § 8,700 2% 9 F 4,350 & -
£ 1T H 5,130 %5 F RAAS M 107237 15p & ~107&# 47 16 p &
~108 & 107 1 p &Z &St et R4 110 2 87 6 p AR
FRAFETE
T SR RS 1A
(=) #HhFrsh 4 s*ngr%;;; Ao s B RS BMARE £ AT AL EARTIIR
T L REEAE DGR R R BAEIRBET > TR
ﬁmﬁm"?%%nﬁaéﬁw,xﬁmﬁ MREHE S R
R A R AR S € e 2 ) R R e
20 PRGN = IR T w S PER 20 DINA - IR B AT L AT BA PR
F10E~ % 202 % 121F% 1 20970 2o
() &&iik 110281 6 pAzyrd 2 Hipdh — BA TN ok JofF
LEERPR EEE p RAS BMTE 107 £ R kX ek B
A g R TH 8,700~ (¢ z5#L 17 9,000 =~ -~ % 6,000 =~
BICEEE 142 28~ ~ F 97k 5,500 & e sl 3,000 o~ oK
Bl H 2,600 % ~ T4 sl 2,6007) 5 R T L LS
u&@é1ﬁ%ﬁﬁ&£§ziﬁwom%&%A&%MWﬁ4Bm
Panerp B A 107 E R G LB B A B E R P LA R A

VH AR A AR o

’

Ji



g\l’gi&ﬁﬂéwﬁi~;,T‘{nfé%ibiﬁ'%lﬁ‘"#ﬁgwﬁi‘%ﬁﬁfﬁ%‘iﬁ

kg AE T4 kA (BT ZHP o LRI HFEL1F 9,0

00 = ~ 3,000 = ~ 9,400 = ~ 5,000 = ~2,500 = ~ 1§ 2,000 ~ ~1 § 2

,000 = 5 226 F 2,900 ~ 5 F_R E BB R A 1 SorrRE 4 £ iR ]

07 # B 5 Ly Bpse @ XATB4E T T H 8,700 &~ » Hif 5o L £ %

EHEFEPALARNPERE EFEFSAPE 0 ol Ras

RS R e A o T\@wxiﬁié T A
o d R M2 X E2 A pAb0p T 5 s o

o BN R s 2 2 R B 33N A

(=) #%;ma‘“ﬂ?'l FFHES SR B F M A Rl T

AT & I A S Bk R s 2 2R - R T v o i 2

DINA - R R AT TR REHA Y 1 35 E S LA PR
FILIES 6202 % 12155 1 2970 2o

() A4 110287 6 pAxeid 2 *iidpid 8~ F3 9 - T4 ¥
7 bﬁ\p\ TR, AR A 2N A A O P s BMAT 2 i X
BESFRBEIPY > 2B EHSEFEFE  RERBRTARFO
%24~ 000~000~000~000~000~000~0
OO0 ~0002000% 4 » TR A XA ST P4V H J5 -
ERBEAMMERL > ARO0E 2 75/ FF4 L 958 107 £
B 5% 2,080 % (¢ 2K -THEHB 1,600 22 £3F-21 %
480 &) ~ 107 # B4e B ZAEEH 7T 8,700 ~ % 108 & A 4c &>

Wi

SAE TS 9F 4,350 A0 E3E 1T § 5,130 & 0 HEREF Fiin ks
e

BAet o B F R SON B PR Bk L e 107 £ R
B R RARKH By 2 SR 4981 5 T H 8,700 A& 6 F 2,900 &
A F RS PR TR AR, B BEERYERA
EPTRE A FEF PEAR kX JpEbAT B T ri:i,r,;ﬁ% BB i
B e et ysz 5 11 IE% 6302 % 12 TR 1 ERT URAES 2% Rk
AU ATTRRR A Bk iFAR 2 A JpBEE R 480~ ; fp 112 & 17 ]
PAz: 113 & 127 31 p ok > g0 38 X S dpm2 4800 Y G- f Rk
FoFRLpE R XATRERIIR L0 0 RS B
PEETEE R A B RRA L AR LA AR A
FIEIA RGH BB E] > Rk MR A SRR R AR R G
- W WIHRIE o S R BT Rl 2 2 RS 3

W

K



FEanihR T T &% £ B Ao

SRR R ifié‘r)fﬁé%ﬂ&\ﬁﬂ_ﬁ P LGOI RPRERE S T9
%1% % 8liF > Agdri o
REFRLIAELELRE 2 A B (2B)
TR % B O (RF)
AR 2 & =
TR M €
LR X F
AR = 4
AR = & 7
=3 L -1
tRE 3 £ 2
AR 7 o~ #
ERR 111 E: 12 . 6 P

4o ¥ i’%ﬂxz‘#fr;éwﬁ%w% JRE - ER AT EE 2 pA 2B P e
FARLAE R R AT o (LR 2 RERGE
W ek B AT L“ﬁ(Tf}»\?FéEJV15}»248%';u)'§f'zf7"3— 7‘FR'?§’1‘7"3—

RFEE2ApAT 2B P e MR F A R o (B4
BEAREREL AL L HRTASEE 101 55)



